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D AR Ay

(L) A=

=1x07=07m’
TUAN 28 AR A2

(1,000 mm+15 mm+15 mm) X (700 mm +

15 mm-+15 mm+ A &A 25 mm)

= 1,030 x 755 —1,030 x 800 =0.83 m’

1 =, LU 2R Hel=

2. K| (Sheet)| XIF U X|Z| AL
22 25-H0|5} SHAIZ |0l M F 4B,

3 SR m2ARZ A NEXKESR
AelofM afeit

3ARIEEBUY 2A
3147 42

olct,
3.2 BA1Z SW 40 mm Y DW 45 mm
AR A A Q F1ARA] o)t}
4% SW 8 mm, DW 10 mm+
Flap A1) 7HEolot,
3.4 FA%F 25 mmETAAAY A=
50 mm @9 RS THEAE
A, 2 A that 2
Oh BUARA 2ol % 2
AR B AAAAT 54 3
2o| Az FAd 7+ A4E
7 A%do] RS A BRI
_3_% Kgoz, 479 A5
mm $HE Ao} 251 §l
Ufl OJATIA EBA 7Y
TRA IR QAL 015 &
Qastel ek
Tt o ka9 YA}

4 A7} w2 A 9A0] 2w

OH Fll‘ of

3.3

r(r

mmol|L}. .
mmER| = 5t mmo|

3t, m? 297 Ofst A

SLR|EY Ut ||

A7 A7 28l AL Zelete, BT A
AZ 50 mm T AGEE, 2|
() ARRFAY F x & x 119 dAA|¢ v &2 i
5:4:3023 & x &
480%x330%260& A4 1m
() YAAHAE 50 mm T2
3.65%2] A& AL theat 7
O FBAAZ7) 71AFL gutEe

2,500 mm Atol2 A
[o]

2 1,450 mmojJA
, ©] 7H’—Eﬂ 80%
OV F5E ol 911,800 mm 7 A%
= 5]._71_ 3=z 9 ol 22_,]
® AR-YA A2 A 29l + o]
B4 52 5mm + AYEHE AT 15 mm
2 = 30 mmE A ¥, 50
T SARFE T, AFEAES Alitel

ARG B4 521,800 mmE AH|RA

I‘N

1N

X]%?}/\F AR ELA
NS

(D) B+C+D)

3 1740 5 30

3 1710 5 30
50 3 16800 5 30
B0 3 1880 5 30
0. 3 16200 5 30
530 3 1890 5 30
50 3 180 6 30
5 3 218300 5 30
500 3 1800 5 30
490 3 1470 5 30
880 2 170 5 30
870 2 1740, 5 K
80 2 1720 5 30
80, 2 1700 b 30
840 2 1680 5 30
830 2 1660 5 30
80 2 1640 5 30
B0 2 1620 5 30
800 2 1600 5 30
79 . 2 1880 5 30
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o] 9% A 3%= 481,800 mm X 3 X 0,1/100)
= 5.4 mm7} 5o 5 mmZ gAY,

e

N e
@ ZHALA) ARAE 50 mm B9}e] B AgHeA
1% 9 &8 3 SUUAEY BRae AsE
Bk $EEE), AT 38 ADEO), 50 mm A1E
7HE &4 HFAS Deld, 13 715 £4U4E 9
£8L () 712 FRAEL 32 A4S 535

Thebe SR AREES

25{(5635 + 835) 2} x 100 = 3.65%%

w kcea .ot kr

. UFLEZY§ XA Q)

@ AR A28, AAZE 50 mm T91) QAT &

(m? 7|%)

Il AL ZEYE SUX YK HEHY

{m? 218

AR » 2
0.233 ()
EIGIE] kg 0.462 (2) 0.444 (d)
221 kg 0.211 (b) 0.400 (e)
AESA(A) | kg 0.061 0.107
CONEES
2 kg 0.01132 0.0226
THg ALt kg 0.00044 0.00088
SA kg 0.00040 0.00080
3 kg 0.0035 0.0035
SRR cm 0.01433 0.01433
BEA kg 0.0018 0.0021
PPHHC kg 0.0015 0.0021
7iet
= L 0.0239 0.0268
e kwh 0.0422 0.0539

0.
2toli kg 0.462 (a) 0.444 (d)
EMF| kg 0.211 (o) 0.400 (e)
NE2A(A) | kg 0.061 0.107

EyyE=S
HE kg 0.01132 0.0226
Jtdact kg 0.00044 0.00088
2A kg 0.00040 0.00080
g L 0.0139 0.0235
= kwh 0.0295 0.0412

Hl 0

1.0] 2Rl fE|URt 547 REVIY] ARt MALI=2)

RIS 7IFsl0] M AL,

2.0 IEiel= 2 - x| U S| M2l JIFS HFslo] 0
7199 Loss® TE Y MASTNOE T3S 7|
oAl B S8 o= M Y.

- 3.2j0lLf W BAXI| £BE SW =10091, DW = 100/90%!.
| 4. B(X)B2AF=16,BF=14,CF=15EF=12¢.

5 BE XY
SW =KA210 X S120(AF) X KA210
{@) 0.210kg/m? X 200 X 100/91 = 0.462 kg/m?
{b) 0.120kg/m? X 1.6(AF) X 100/91 = 0.211kg/m?
DW = KA210 X S120(BF) X K200 X S120(AF) X K200
(©) 0.210kg/m? X 100/90 = 0.233 kg/m?
(d) 0.200kg/m?2 X 28 X 100/90 = 0.444 kg/m?
©=0+®
®0.120kg/m? X 1.6(AF) X 100/90 = 0.213kg/m?
®0.120kg/m? x 1.4(BF) x 100/90 = 0.187kg/m?
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